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Chapter 1

Data and business analytics
True/False Questions
1. In formulating a business strategy, management must consider the objectives of the owners, other stakeholders, the internal and external environments and the resources available.

*a. True 

b. False 

General Feedback:

Section 1.1, Difficulty: Easy 

2. Data is the outcome of the statistical analysis of information.

a. True 

*b. False 

General Feedback:

Section 1.1, Difficulty: Easy 

3. Customer-loyalty programs such as Coles supermarkets’ Flybuys reward scheme collect extensive data about individual customers’ purchasing habits.

*a. True 

b. False 

General Feedback:

Section 1.1, Difficulty: Easy 

4. Analysis of data collected from transactions with individual customers must be collated and analysed as a comprehensive dataset in order to be of value to the business.

a. True 

*b. False 

General Feedback:

Section 1.1, Difficulty: Medium 

5. Neo Supermarkets is a new chain of supermarkets trying to create a niche in the industry to compete against the established operators such as Woolworths and Coles. The marketing manager has argued for the introduction of a loyalty program that would record purchase details against individual customer records as a way to create a more individual relationship with each customer. Systems that collect the details of individual transactions allow individual customers to be targeted with customised promotions.

*a. True 

b. False 

General Feedback:

Section 1.1, Difficulty: Easy 

6. Data specialists must first propose possible correlations between characteristics and behaviours before a dataset can be analysed to identify correlations.

a. True 

*b. False 

General Feedback:

Section 1.1, Difficulty: Medium
7. Every aspect of a business strategy must be informed by data analysis.
a. True 

*b. False 

General Feedback:

Section 1.1, Difficulty: Easy 

8. Business analytics is a more comprehensive term for data analysis.

a. True 

*b. False 

General Feedback:

Section 1.2, Difficulty: Easy 

9. Business analytics is an approach to decision-making that is informed by analysis of quantitative data.

*a. True 

b. False 

General Feedback:

Section 1.2, Difficulty: Easy 

10. To be useful for decision-making, business analytics must be informed by complex statistical analysis.

a. True 

*b. False 

General Feedback:

Section 1.2, Difficulty: Easy 

11. Data mining enables the identification of correlations that would be virtually impossible to identify using conventional statistical approaches.

*a. True 

b. False 

General Feedback:

Section 1.2, Difficulty: Easy 

12. ‘Business intelligence’ refers to the data that informs a business’s business analytics.
a. True 

*b. False 

General Feedback:

Section 1.2, Difficulty: Medium 

13. Business analytics is an appropriate approach for all business problems and decisions.

a. True 

*b. False 

General Feedback:

Section 1.2, Difficulty: Easy 

14. Any statistical analysis should only be undertaken after an assessment that its potential value is greater than its cost.

*a. True 

b. False 

General Feedback:

Section 1.2, Difficulty: Medium 

15. A portion (subset) of the entities under study is called the sample. 

*a. True 

b. False 

General Feedback:

Section 1.3, Difficulty: Easy 

16. Claudia Taylor, Director of Global Industrial Sales in Melbourne, is concerned by a deteriorating sales trend. Specifically, the number of customers is stable at 1500 but they are purchasing less each year. She asks her staff to search for causes of the downward trend by selecting a focus group of 40 industrial customers. For this study, the set of 40 industrial customers is a population. 

a. True 

*b. False 

General Feedback:

Section 1.3, Difficulty: Easy 

17. Simon Arnett, Director of Human Resources, is exploring the causes of employee absenteeism at Buderim Bottling during the last year. Personnel records for 50 of the plant’s 250 employees are selected for analysis. For this study, the group of 50 is a parameter. 

a. True 

*b. False 

General Feedback:

Section 1.3, Difficulty: Easy 

18. Michael Bayley, Marketing Director of UniPower’s Electrical Division, is leading a study to identify and assess the relative importance of product features. Michael directs his staff to design a survey questionnaire for distribution to all of UniPower’s 954 customers. Michael is ordering a census of the customers. 

*a. True 

b. False 

General Feedback:

Section 1.3, Difficulty: Medium 

19. Claudia Taylor, Director of Global Industrial Sales in Melbourne, is concerned by a deteriorating sales trend. Specifically, the number of customers is stable at 1500 but they are purchasing less each year. She orders her staff to search for causes of the downward trend by surveying all 1500 industrial customers Sue is ordering a sample of the industrial customers. 

a. True 

*b. False 

General Feedback:

Section 1.3, Difficulty: Medium 

20. Penny Bauer, Chief Financial Officer of Harrison Haulage, suspects irregularities in the payroll system and orders an inspection of ‘each and every payroll voucher issued since 1 January 2012’. Penny is ordering a census of the payroll records. 

*a. True 

b. False 

General Feedback:

Section 1.3, Difficulty: Medium 

218. Greek letters are commonly used to represent population parameters. 

*a. True 

b. False 

General Feedback:

Section 1.3, Difficulty: Medium 

22. The symbol ‘µ’ is used to represent the population mean. 
*a. True 

b. False 

General Feedback:

Section 1.3, Difficulty: Medium 

23. The lowest level of data measurement is nominal level. 

*a. True 

b. False 

General Feedback:

Section 1.3, Difficulty: Easy 

24. Ranking is an operation that is meaningful for processing ordinal data, but is meaningless for processing nominal data. 

*a. True 

b. False 

General Feedback:

Section 1.3, Difficulty: Medium 

25. A consumer has been asked to rank five cars based upon their desirability. This level of measurement is nominal. 

a. True 

*b. False 

General Feedback:

Section 1.3, Difficulty: Medium 

26. Members of the account department’s staff were asked to rate their supervisor’s leadership style as either:


– authoritarian or


– participatory.
This is an example of nominal level data. 

*a. True 

b. False 

General Feedback:

Section 1.3, Difficulty: Easy 

27. The tax file numbers of employees would be an example of ordinal data measurement. 

a. True 

*b. False 

General Feedback:

Section 1.3, Difficulty: Easy 

28. Data that are collected at a fixed point in time are called cross-sectional data. 

*a. True 

b. False 

General Feedback:

Section 1.3, Difficulty: Easy 

29. What proportion of Perth voters favour trade restrictions with China? In an effort to determine this, a research team calls every registered voter in Perth and successfully contacts them. The proportion from the data gathered from the calls is most likely a parameter. 

*a. True 

b. False 

General Feedback:

Section 1.3, Difficulty: Medium 

30. Data that are collected over time are called time-series data. 

*a. True 

b. False 

General Feedback:

Section 1.3, Difficulty: Medium 

31. Data consisting of consumer confidence over several months may be considered as cross-sectional data. 

a. True 

*b. False 

General Feedback:

Section 1.3, Difficulty: Easy 

32. The Jacaranda Swimming Pool Company wants to determine the average number of years it takes before a major repair is required on one of their pools. The manager of the company asks Rick Johnson, company accountant, to randomly contact 50 families who purchased Jacaranda pools in the past 10 years and determine how long it was in each case before a major repair was needed. The information will be used to estimate the average number of years before a major repair is required for all pools sold by Jacaranda. The average, based on the data gathered from the 50 families, could best be described as a population. 

a. True 

*b. False 

General Feedback:

Section 1.3, Difficulty: Medium 

33. Data relating to consumer confidence for a given month may be considered as cross-sectional data. 

*a. True 

b. False 

General Feedback:

Section 1.3, Difficulty: Easy 

34. Data collected to address a specific need is known as primary data. 

*a. True 

b. False 

General Feedback:

Section 1.4, Difficulty: Easy 

35. A market researcher is interested in determining the average income for families in Hamilton, New Zealand. To accomplish this, she takes a random sample of 400 families and uses the data gathered to estimate the average income for families in the city. This is an example of primary data. 

*a. True 

b. False 

General Feedback:

Section 1.4, Difficulty: Easy 

36. A university conducted a survey of its employees to determine their level of satisfaction with working at the university. This is an example of secondary data. 

a. True 

*b. False 

General Feedback:

Section 1.4, Difficulty: Easy 

37. A company has recently made a decision to build a new plant in Victoria. In making this decision it used data supplied by the Australian Bureau of Statistics. This is an example of secondary data. 

*a. True 

b. False 

General Feedback:

Section 1.4, Difficulty: Easy 

38. Complex statistical analysis methods can overcome the deficiencies in poor-quality data.

a. True 

*b. False 

General Feedback:

Section 1.4, Difficulty: Easy 

39. Bruce Macallef, in a typical day, reads an online newspaper, drives through two toll points, purchases coffees for his team at work with a credit card, sometimes purchases lunch with a credit card, checks his bank balance and pays his bills or checks his automatic payments on his mobile phone during his lunch break, goes to the local gym for an hour before he goes home, where he usually spends the evening watching a movie or show on Netflix with this wife and children. The ongoing collection of data from Bruce’s activities can be described as an organic distributed process.

*a. True 

b. False 

General Feedback:

Section 1.4, Difficulty: Easy 

40. Jim Reece is a data scientist. Jim would typically spend most of this work day analysing terabyte-sized datasets.

a. True 

*b. False 

General Feedback:

Section 1.4, Difficulty: Easy 

41. To successfully conduct data mining of extensive datasets, first statistical models must be developed and prototyped.
*a. True 

b. False 

General Feedback:

Section 1.4, Difficulty: Easy 

42. Data collected through organic distributed processes are an example of primary data.

a. True 

*b. False 

General Feedback:

Section 1.4, Difficulty: Easy 

43. Data mining can identify patterns and predict behaviours that could not realistically be identified and predicted using conventional statistics methods.

*a. True 

b. False 

General Feedback:

Section 1.5, Difficulty: Easy 

44. Data mining relies on machine learning.

*a. True 

b. False 

General Feedback:

Section 1.5, Difficulty: Easy 

45. The scarcity of computing resources and data limit what can be achieved by data-mining methods.

a. True 

*b. False 

General Feedback:

Section 1.5, Difficulty: Easy 

46. Stan Peters, Marketing Manager at Queensland Dairy Products, has requested the company make a major investment in data-mining capabilities. He argued that the extensive data sets the company holds from direct sales and sales data fed back by its distributors, such as supermarkets, could be explored by data-mining applications to identify patterns amongst the company customers as well as potentially target individual customers, such as particular customers, with customised offerings. Queensland Dairy Products should undertake a cost–benefit analysis before making a decision on whether to invest in data-mining capabilities.

*a. True 

b. False 

General Feedback:

Section 1.5, Difficulty: Easy 

47. Stan Peters, Marketing Manager at Queensland Dairy Products, is keen for his company to invest in data-mining capabilities. When describing data mining he told the management committee that it uses machine learning to iteratively explore data, learning as the process goes in order to investigate findings, thus reducing the need for data analysts to first propose patterns that might exist. Stan has described machine learning accurately.

*a. True 

b. False 

General Feedback:

Section 1.5, Difficulty: Easy 

48. Using data mining, Woolworths identified a correlation between the amount of milk purchased and the number of car crashes experienced. This correlation could also easily be found using conventional statistical methods.

a. True 

*b. False 

General Feedback:

Section 1.5, Difficulty: Easy 

49. The collection of data via distributed organic processes raises ethical and privacy concerns about profiling of individuals to a much greater extent than the data collection involved in classical statistical analysis.
*a. True 

b. False 

General Feedback:

Section 1.5, Difficulty: Easy 

50. Sampling and inferential statistics remain more appropriate than data mining for many purposes.

*a. True 

b. False 

General Feedback:

Section 1.5, Difficulty: Easy 

Multiple Choice Questions


51. A business strategy is ____________.

a. a financial plan to maximise profits 

b. a set of tactics to compete with other businesses

*c. a long-term plan for achieving the business’s goals

d. another term for business analytics

General Feedback:

Section 1.1, Difficulty: Easy 

52. The difference between data and information is ________________.
*a. information is the outcome of data analysis

b. data is the outcome of information analysis

c. data is quantitative whereas information is qualitative

d. information is informal whereas data is formal
General Feedback:

Section 1.1, Difficulty: Easy 

53. The best description of what a business strategy must consider is _________________.
a. the objectives of the owners, the resources available and data mining

b. the objectives of the owners and other stakeholders, the internal and external environment in which the business operates and the company’s SWOT analysis

c. the objectives of the owners and the resources available

*d. the objectives of the owners and other stakeholders, the resources available and the internal and external environment in which the business operates

General Feedback:

Section 1.1, Difficulty: Easy 

54. Data analysis by Woolworths found customers who purchased large quantities of rice and pasta, purchase petrol at night and drink spirits have a relatively high incidence of being involved in car accidents. Based on this information, Woolworths could best choose to ____________.
a. market insurance products to customers who purchase large quantities or rice and pasta, purchase petrol at night and drink spirits
*b. market insurance products to customers who do not purchase large quantities or rice and pasta, purchase petrol at night and drink spirits

c. market insurance products to all customers, but reject applicants who purchase large quantities or rice and pasta, purchase petrol at night and drink spirits

d. dissuade customers from purchasing large quantities of rice and pasta, purchasing petrol at night and drinking spirits
General Feedback:

Section 1.1, Difficulty: Medium
55. Business analytics is _______________.

a. a long-term plan to achieve a business’s goals

b. another term for business statistics

*c. an approach to decision-making based on analysis of quantitative data

d. an approach to decision-making based on analysis of qualitative data

General Feedback:

Section 1.2, Difficulty: Easy 

56. Which of the following is an example of business intelligence?

*a. A report featuring tables and charts

b. A dataset

c. A business strategy

d. Primary data
General Feedback:

Section 1.2, Difficulty: Easy 

57. ‘Paralysis by analysis’ means _____________.
a. an inability to analyse data adequately for the business’s purposes

*b. an inability to move past the analysis stage to actually make decisions

c. an inability to agree on an analysis approach

d. an inability to analyse very large datasets

General Feedback:

Section 1.2, Difficulty: Easy 

58. Business intelligence is _____________.

a. the entirety of a business’s data

b. another term for business analytics

*c. the outcome of data visualisation and reporting

d. a cost–benefit analysis of business analytics

General Feedback:

Section 1.2, Difficulty: Easy 

59. The complete collection of all entities under study is called the __________. 

a. sample 

b. parameter 

c. statistic 

*d. population 

General Feedback:

Section 1.3, Difficulty: Easy 

60. Michael Bayley, Marketing Director of UniPower’s Electrical Division, is leading a study to identify and assess the relative importance of product features. Michael directs his staff to design a survey questionnaire for distribution to all of UniPower’s 954 customers. For this study, the set of 954 customers is a ________________. 

a. statistic 

*b. population 

c. parameter 

d. sample 

General Feedback:

Section 1.3, Difficulty: Easy 

61. Simon Arnett, Director of Human Resources, is exploring the causes of employee absenteeism at Buderim Bottling during the last operating year. For this study, the set of all employees who worked at Buderim Bottling during the last operating year is a ________________. 

*a. population 

b. sample 

c. statistic 

d. parameter 

General Feedback:

Section 1.3, Difficulty: Easy 

62. When a person collects information from the entire population, this is called a _____________. 

a. sample 

*b. census 

c. statistic 

d. parameter 

General Feedback:

Section 1.3, Difficulty: Easy 

63. Michael Bayley, Marketing Director of UniPower’s Electrical Division, is leading a study to identify and assess the relative importance of product features. Michael asks his staff to design a survey questionnaire for distribution to 100 of UniPower’s 954 customers. Michael is requesting a ________________. 

a. statistic from the customers 

b. census of the customers 

c. sorting of the customers 

*d. sample of the customers 

General Feedback:

Section 1.3, Difficulty: Medium 

64. Penny Bauer, Chief Financial Officer of Harrison Haulage, suspects irregularities in the payroll system and orders an inspection of ‘every tenth payroll voucher issued since 1 January 2012’. Penny is ordering a __________________. 
 

a. census of the payroll records 

b. parameter from the payroll records 

*c. sample of the payroll records 

d. sorting of the payroll records 

General Feedback:

Section 1.3, Difficulty: Medium 

65. Upon discovering an improperly adjusted drill press, Jack Joyner, Director of Quality Control, ordered an inspection of ‘every fifth casting drilled on the evening shift’. Jack is ordering a _________________. 

*a. sample of the castings 

b. sorting of the castings 

c. census of the castings 

d. parameter from the castings 

General Feedback:

Section 1.3, Difficulty: Medium 

66. Which of the following symbols is used to represent a population parameter? 

a. s2 

b. s 
*c. ( 

d. ¥ 

General Feedback:

Section 1.3, Difficulty: Medium 

67. Simon Arnett, Director of Human Resources, is exploring the causes of employee absenteeism at Buderim Bottling during the last operating year. The average number of absences per employee, calculated from the personnel data of all employees, is a ___________________. 

a. population 

b. sample 

*c. parameter 

d. statistic 

General Feedback:

Section 1.3, Difficulty: Medium 

68. Statistics are usually represented by ___________________. 

a. Greek letters 

*b. Roman letters 

c. ordinal data 

d. interval data 

General Feedback:

Section 1.3, Difficulty: Medium 

69. Claudia Taylor, Director of Global Industrial Sales in Melbourne, is concerned by a deteriorating sales trend. Specifically, the number of customers is stable at 1500 but they are purchasing less each year. She orders her staff to search for causes of the downward trend by selecting a focus group of 40 industrial customers. One question asked the focus group customers to rate ‘Merchandise is delivered on time’ on a scale of 1 to 5, with 1 meaning ‘never’ and 5 meaning ‘always’. The average response of the 40 customers to this question is a _________________. 

a. parameter 

b. population 

c. sample 

*d. statistic 

General Feedback:

Section 1.3, Difficulty: Medium 

70. Which of the following operations is meaningful for processing nominal data? 

a. Addition 

b. Multiplication

c. Ranking

*d. Counting 

General Feedback:

Section 1.3, Difficulty: Medium 

71. A question in a survey of computer users asked ‘Which operating system do you use most often? (a) Apple OSX, (b) Linux, (c) MS Windows 10, (d) Unix’. The measurement level for this question is _________________. 

*a. nominal level 

b. ordinal level 

c. interval level 

d. ratio level 

General Feedback:

Section 1.3, Difficulty: Easy 

72. Claudia Taylor, Director of Global Industrial Sales in Melbourne, is concerned by a deteriorating sales trend. Specifically, the number of customers is stable at 1500 but they are purchasing less each year. She asks her staff to search for causes of the downward trend by surveying all 1500 industrial customers. One question on the survey asked the customers: How many people does your company employ:
º 0–25
– 26–100
– 101–1000
– 1001+
The measurement level for this question is ___________________. 

a. nominal level 

*b. ordinal level 

c. interval level 

d. ratio level 

General Feedback:

Section1.3, Difficulty: Easy 

73. Morningstar Mutual Funds analyses the risk and performance of mutual funds. Each mutual fund is assigned an overall rating of one to five stars. One star is the lowest rating, and five stars is the highest rating. This level of measurement is ___________________. 

a. nominal 

b. ratio 

*c. ordinal 

d. interval 

General Feedback:

Section 1.3, Difficulty: Easy 

74. A person has decided to code a particular set of sales data. A value of 0 is assigned if the sales occurred on a weekday, and a value of 1 means it happened on a weekend. This is an example of ___________________. 

*a. nominal level data 

b. ordinal level data 

c. interval level data 

d. ratio level data 

General Feedback:

Section 1.3, Difficulty: Easy 

75. A market research analyst has asked consumers to rate the appearance of a new package on a scale of 1 to 5. A 1 means that the appearance is awful while a 5 means that it is excellent. The level of this data is usually considered ___________. 

a. nominal 

*b. ordinal 

c. interval 

d. ratio 

General Feedback:

Section 1.3, Difficulty: Medium 

76. Using data from a group to generalise to a larger group involves the use of __________. 

a. descriptive statistics 

*b. inferential statistics 

c. population derivation 

d. sample persuasion 

General Feedback:

Section 1.3, Difficulty: Medium 

77. Jessica Salas, Managing Director of Salas Products, is reviewing the warranty policy for her company’s new model of car batteries. Life tests performed on a sample of 100 batteries indicated an average life of seven years under normal conditions. Jessica recommended a six-year warranty period for the new model. This is an example of ___________________. 

a. descriptive statistics 

b. nonparametric statistics 

*c. inferential statistics 

d. nominal data 

General Feedback:

Section 1.3, Difficulty: Medium 

78. Penny Bauer, Chief Financial Officer of Harrison Haulage, suspects irregularities in the payroll system, and orders an inspection of ‘each and every payroll voucher issued since 1 January 2012’. Five per cent of the payroll vouchers contained material errors. This is an example of ________________. 

a. nonparametric statistics 

b. nominal data 

*c. descriptive statistics 

d. inferential statistics 

General Feedback:

Section 1.3, Difficulty: Hard 

79. The Sydney Chamber of Commerce wants to assess its members’' opinions of the Closer Economic Relations Trade Agreement. One hundred of the 2000 members are randomly selected and contacted by phone. Seventy-five reported an overall favourable opinion and twenty-five reported an overall unfavourable opinion. The proportion, 0.75, is a _____________. 

a. sample 

b. population 

c. parameter 

*d. statistic 

General Feedback:

Section 1.3, Difficulty: Medium 

80. Universities often assign numbers as student identification. These numbers are best categorised as what level of data? 

a. Interval. 

*b. Nominal. 

c. Ordinal. 

d. Ratio. 

General Feedback:

Section 1.3, Difficulty: Easy 

81. Moody’s Investors Service uses nine ratings of corporate bonds to assist potential investors assess their risk. 

[image: image2.png]Rating | Meaning

Aaa | Best quality

Aa | High quality

A Higher medium quality

Baa | Lower medium quality

Ba | Possess speculative clements

B Tack characteristics of desirable investment
Caa | Poor standing
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The level of data measurement in Moody’s bond ratings is ______________. 

a. ratio 

b. interval 

*c. ordinal 

d. nominal 

General Feedback:

Section 1.3, Difficulty: Medium 

82. Which of the following symbols represents a statistic? 

*a. s 

b. µ 

c. ( 

d. (2 

General Feedback:

Section 1.3, Difficulty: Medium 

83. Big data is characterised by _________________.

a. volume and variety

b. volume, velocity and variability

c. volume, variety and vacuity

*d. volume, velocity and variety
General Feedback:

Section 1.4, Difficulty: Easy 

84. A mortgage broker downloads a spreadsheet from the Australian Bureau of Statistics to see the average income of households in a range of postcodes. This data is _______________.

a. primary data

*b. secondary data

c. big data

d. nominal data

General Feedback:

Section 1.4, Difficulty: Easy 

85. The Perth City Council wants to assess residents’ attitude toward building more toll roads in the city. It conducts a survey or a random sample of households. The data obtained from the survey is __________________.

*a. primary data

b. secondary data

c. big data

d. nominal data

General Feedback:

Section 1.4, Difficulty: Easy 

86. When big data is characterised by word ‘velocity’, it means _______________.

a. data is generated from numerous available sources

*b. everyday activities generate data that are automatically captured in real time

c. data are both broad and deep

d. the data captured are reliable

General Feedback:

Section 1.4, Difficulty: Easy 

87. Organic distributed processes, in the context of big data, refer to______________.

a. targeted surveys designed to describe respondents’ everyday activities

b. opt-in surveys designed to describe respondents’ everyday activities

c. secret data collection

*d. the mechanisms that capture data from everyday activities such as when people use the web or their credit card

General Feedback:

Section 1.4, Difficulty: Easy 

88. Data mining is ______________.

a. covert analysis of large datasets

b. the collection of data

*c. the use of machine learning to investigate and analyse extensive datasets

d. the application of classical statistical techniques to large datasets

General Feedback:

Section 1.5, Difficulty: Easy 

88. Why is machine learning considered an iterative process?

a. A statistician can use machine learning to quickly perform numerous variations of an analysis such as a regression analysis.

b. Machine learning can detect anomalies and outliers.

*c. Machine learning can automatically perform new analyses on data based on what has been found in previous analyses.

d. Machine learning requires new data to be added to dataset regularly.

General Feedback:

Section 1.5, Difficulty: Easy 

88. What is a ‘persona’ within a business’s customer base?

*a. A description of a ‘typical’ customer based on a set of characteristics common to a group of customers.

b. A description of an individual customer’s characteristics.

c. A record of an individual’s transactions with the business.

d. A hypothetical customer that can be used to test different business strategies.

General Feedback:

Section 1.5, Difficulty: Easy 

Short Answer/Essay Questions

89. What is the difference between ‘data’ and ‘information’?

Correct Answer:

Section 1.1. Data must be gathered, processed, stored, manipulated, analysed and tested using valid statistical methods in order to produce information. Information, not data, informs business decision-making. 

90. What factors must management consider when formulating a business strategy?

Correct Answer:

Section 1.1. Management must consider the objectives of the owners and other stakeholders, the resources available and the internal and external environments in which the business operates. Management must also consider a range of factors specific to the business, including what products the business should sell, who its target customers are, what value the business is offering to customers and how the business can differentiate its offerings from those of competitors. 
90. What is the primary aim of business analytics? 

Correct Answer:

Section 1.2. The main aim of business analytics is to extract the best possible information from the data collected and use it to make logical and informed business decisions. 

91. What is the difference between business analytics and business intelligence? 

Correct Answer:

Section 1.2. Business analytics is an approach to business decision-making based on the information obtained from the analysis of quantitative data. Business intelligence refers to the outcome of data visualisation and reporting and includes charts, tables, reports and interactive dashboards. 

92. Describe the concept of a population. 

Correct Answer:

Section 1.3. A population is a collection of objects (often called units or subjects) of interest. Examples of a population can include: all workers employed at a business, all iPads made by Apple in the past 12 months. A population (and unit) can be widely defined, such as ‘all tablet computers’; or narrowly defined such as all iPhones produced in Shenzhen in March 2018. 

93. Describe the concept of a sample. 

Correct Answer:

Section 1.3. A sample is a subset of a population. For example, one in ten students at the university or every one-hundredth light bulb on a production line. If selected according to the principles of sampling, a sample can be expected to be representative of the population as a whole. Sampling is cheaper and simpler than performing a census of a population. 

94. Define the concept of categorical data. 

Correct Answer:

Section 1.3. Categorical data are simply identifiers or labels that have no numerical meaning. Such data are often not numbers. Examples include a person’s occupation or a student’s grade on an assignment (A, B, C, D). 

95. Define the concept of numerical data. 

Correct Answer:

Section 1.3. Numerical data are data that have a natural order and the numbers represent some quantity. Examples of numerical data include the number of heads in ten tosses of a coin, or the weights of football players. 

95. A marketing demographic survey is undertaken to determine the market potential for a new product. One of the questions asked is: ‘What type of residence do you live in?’
Respondents are offered several possible answers including: house, townhouse or apartment.
In order to computerise the survey answers, the responses are coded as: 1 for house, 2 for townhouse, and 3 for apartment. What level of data do the numbers, 1, 2 and 3 represent? 

Correct Answer:

Section 1.3. The numbers 1, 2 and 3 represent nominal data. 

96. During a strategy planning session, the executives of UniPower identified 31 significant opportunities for the future health of the company. Toward the end of the session, Paul Pearson, a management consultant, asked the executives to rate each opportunity on a scale of ( to (((((. What type of data measurement does this represent? 

Correct Answer:

Section 1.3. This is a type of ordinal data measurement 

97. A researcher wants to know what the average variation is in altimeters of small, privately owned planes. The task of determining this is expensive and time consuming, if even possible, given the large number of such planes. The researcher decides to use government records to randomly locate the owners of ten such planes and then ask permission to test their altimeters. When the researcher is done, he will use the data gathered from the group of ten to reach conclusions about all small, privately owned airplanes. Is the data collected primary or secondary? 

Correct Answer:

Section 1.4. This type of data is known as primary data. 

98. What skills are required of a data scientist?

Correct Answer:

Section 1.4. Data scientist is a relatively new profession, brought on by the unique mix of skills required to analyse big data. A data scientist will usually have expertise in one discipline, such as statistics, machine learning, maths, programming, business or IT, along with a reasonable knowledge of the other areas. Data scientists spend a lot of time developing statistical models and prototypes.

99. Why does the emergence of big data and data mining create privacy and ethical concerns for some people?

Correct Answer:

Section 1.5. Traditionally, data collection for statistical analysis would gather a relatively small amount of data on specific issues with that data to be used for a specific purpose. Usually the data collected would not be specifically tied to individual respondents. In the age of big data with organic distributed data collection and the ability for data mining approaches to not only identify patterns in groups, but also to identify and predict behaviours at the individual level, many people are concerned about data being personally identified with them and with the possible misuse of the data or the findings from data analysis. To partially allay people’s concerns, organisations often present a statement of what they will and will not use data for, prior to collecting data from an individual.

100. Why is it often inappropriate to begin a data-mining exercise with a set of narrow questions?

Correct Answer:

Section 1.5. Data mining uses a machine learning approach, in which algorithms learn from the data and then use those findings to automatically explore other features of the data in an iterative fashion. Limiting the process to pre-defined questions, such as those necessarily used in classical statistical approaches, undermines much of the potential power of data mining.
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